

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



Let $a, b, c > 0$. Prove that:

$$\sum \left(\frac{a}{b^2} + \frac{a^2}{b} \right) \geq \sum \left(\sqrt{a^2 - ab + b^2} + \frac{1}{\sqrt{a^2 - ab + b^2}} \right) \geq 6$$

Proposed by Nguyen Van Canh-Ben Tre-Vietnam

Solution by Nguyen Tien Duc-Thai Binh-Vietnam

We have:

$$\sqrt{a^2 - ab + b^2} = \sqrt{(a+b)^2 - 3ab} \geq \sqrt{(a+b)^2 - \frac{3}{4}(a+b)^2} = \frac{a+b}{2};$$

Using AM-GM Inequality, we have:

$$\frac{a}{b^2} + \frac{1}{a} \geq \frac{2}{b}, \quad \frac{b}{c^2} + \frac{1}{b} \geq \frac{2}{c}, \quad \frac{c}{a^2} + \frac{1}{c} \geq \frac{2}{a}$$

Thus,

$$\begin{aligned} \sum \frac{a}{b^2} + \sum \frac{1}{a} &\geq 2 \sum \frac{1}{a} \\ \rightarrow \sum \frac{a}{b^2} &\geq \sum \frac{1}{a} = \frac{1}{2} \sum \left(\frac{1}{a} + \frac{1}{b} \right) \geq \sum \frac{2}{a+b} \geq \sum \frac{1}{\sqrt{a^2 - ab + b^2}}; \quad (1) \end{aligned}$$

We have:

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\begin{aligned} \sum \frac{a^2}{b} &= \sum \frac{a^2 - ab + b^2}{b} = \sum \left(\frac{a^2 - ab + b^2}{b} + b \right) - \sum a \\ &\geq \sum 2\sqrt{a^2 - ab + b^2} - \sum a; \end{aligned}$$

$$\begin{aligned} \rightarrow \sum \frac{a^2}{b} &\geq \sum 2\sqrt{a^2 - ab + b^2} - \sum a \\ &\geq \sum \sqrt{a^2 - ab + b^2} + \sum \frac{a+b}{2} - \sum a = \sum \sqrt{a^2 - ab + b^2}; \quad (2) \end{aligned}$$

From (1) & (2) we have:

$$\sum \left(\frac{a}{b^2} + \frac{a^2}{b} \right) \geq \sum \left(\sqrt{a^2 - ab + b^2} + \frac{1}{\sqrt{a^2 - ab + b^2}} \right)$$

Again, using AM-GM Inequality we have:

$$\sum \left(\sqrt{a^2 - ab + b^2} + \frac{1}{\sqrt{a^2 - ab + b^2}} \right) \geq 2 + 2 + 2 = 6.$$

Hence,

$$\sum \left(\frac{a}{b^2} + \frac{a^2}{b} \right) \geq \sum \left(\sqrt{a^2 - ab + b^2} + \frac{1}{\sqrt{a^2 - ab + b^2}} \right) \geq 6.$$

Equality if and only if $a = b = c = 1$.